Maths Problems to Solve - wb 8™ June 2020
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M_X B3 Two strips of paper are placed

end to end.

BN Apples are sold in bags of 5
Tim buys 6 bags of apples.

01231|56?8|9‘I|0‘Il|‘l|2l|3‘li‘l5
cm

How much longer is the yellow

Tim uses 8 apples to make a pie. strip than the red strip?

How many apples does Tim have
lef1?

BN Complete the final calculation.

[2+n ][30 ] A A5
[ 7ones | [1hundred] A+ .=II

M n Order the four numbers.

Start with the smallest number.

ﬂ What is the sum of these two i . _

numbers?

[22 anas] qm:l[l ten and 5 ones]

Wednesday

n Altogether there are 30 apples and

bananas in a basket.

n Max has these coins.

@

His mum gives him four of these coins.

There are I8 apples in the basket.

How many more apples than bananas
are there?

Max now has 80 pence. White

Rose
Maths

Which coins did Max’s mum give him?



Thursday

N Complete the missing numbers. 3 James has £68

©]
60+5 =
6+50= Mo has £42
S
60 +15=50+
60 — IS = 50 — James gives Mo some money.

James and Mo now have the same

amount of money.

How much money does James give
Mo? White

Rase
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Friday

W3 Eggs are sold in boxes of 6 and boxes
of 10

n Nima has some apples.

|
She gives 0 of her apples away.

O
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Mr Taylor buys these boxes.

She has these apples left.
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How many apples did she start with?

He shares the eggs into 2 bowls.

How many eggs are in each bowl?



